V/14. lekce
Příklad 1
KQ43

72

A85

J1073
1ʘ-kontra-?

2♣


1ʘ-2♣-?

kontra

1ʘ-2♦-?

kontra

1ʘ-2♥-?
2ʘ a po 3♣ partnera 3♠
1ʘ-2♠-?

kontra
Příklad 2
A3

Q10762

84

Q1098
1ʘ-kontra-?

2♦

1ʘ-2♣-?

2♦

1ʘ-2♦-?

3♣ a po 3♦ partnera 3♥

1ʘ-2♥-?

kontra

1ʘ-2♠-?

3♣ a po 3♦ partnera 3♥
Příklad 3
107

Q3

KJ108763

94
1ʘ-kontra-?

2♠ a po 2ʘ nebo 3♣ partnera 3♦

1ʘ-2♣-?

2♠ a po 2ʘ nebo 3♣ partnera 3♦

1ʘ-2♦-?

pas

1ʘ-2♥-?
2ʘ a po 3♣ partnera 3♦
1ʘ-2♠-?
2ʘ a po 3♣ partnera 3♦
Příklad 4
KJ1073

A5

QJ4

1072
1ʘ-kontra-?

2♥

1ʘ-2♣-?

2♥

1ʘ-2♦-?

3♠

1ʘ-2♥-?

3♦

1ʘ-2♠-?

kontra
Příklad 5
7

K1084

Q1075

QJ42
1ʘ-kontra-?

2♣

1ʘ-2♣-?

kontra

1ʘ-2♦-?

kontra

1ʘ-2♥-?

kontra

1ʘ-2♠-?
2ʘ a po 3♣ partnera 3♥
